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MALUIN

tan N

»

ly‘ d} ¥ Y C e e T
udn<larunssit 19 LAugayasn AT B edr afanFunon uduius

100 DIM A%(SZ): DIM BE(52)

110 INPUT "CORRELATOR DELAY TIME
"PTIME

115 POKE 49328,0 \

120 K = CHR%F' ( PEEK (49347))

130 FOR I.= 1 TO 52

140 FOKE 4931%,0

150 FOR J = 1 TO 8:AF(I) = A%(I)
+  CHR$ ( PEEK (49347))

160 FOR H = 1 TO 1: NEXT

170 NEXT
180 FOR # = 1 TO 2: NEXT
190  NEXT
200 A1) = KF 4+ AR 1AFCL) = LEFTE
(AE(1) ,8) ‘
Z10 FRINT : INFUT “TO EE CALLED
“:M'«F 4

315 ONERR  GOTO 400
20 PRINT  CHR¥ (4)3 "OFEN ";:M$
SI0 0 PRINT  CHR¥ (4){"WRITE ";Ms$
Z40 FOR I = 1 TO 52: PRINT A%(I)
1 NEXT
L350 PRINT TIMs
F60  FRINT  CHR# (4)3:“CLOSE "M%
267 INPUT 70 REFEAT "iT$: IF.T#
= "Y" THEN = RUN ' '
I80 END :
400 PRINT @ PRINT "DISC ERROR "
POKE 216,0: PRINT : 30TO 3t
0 . .
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tuan 4

REM T INTESERT ,J 6N, I, I3, Kk

o NN
REM
N (F
+(

D = -
FRINT
» IF DR¥E =
FORE D2

N = 48:

THE

21912

TO EVALUATE
FORM Y=0%EXF (BX (1))

"1 DRIVE
lr\]{ll

THE FUNCTIO

L T | S,

1: GET DR
THEN 120

DIM X (48) Y {48) .YY (48

PLAAB) ,B(48) \F(279)

FRINT

FRINT "MINIMUM CRITERION EOR

E-@ 7

EFg =

"ir GET

Y¥: 1IF

AT D InTUANAT Y = ¢ 4 AgBX

YE = YO OTHEN EFS = 1E - 8: GOTD

160
FRINT :
FRINT :
RATION
YE: TF
1 GOTO
FRINT :
RATION =
FRINT :

LED......
FRINT  CHR#
FRINT — CHR
FOR I = |

Y
180

FOR I =
NEXT
FRINT CHR$

NF = T(1) %

:OVF = INT
FOR I = 1 70
+ QVE %
TIM % 1§ -
FOR I = 3

1 70

&

4430
YY (L) = Y (1)
Y(I) = ¥(I)
FOR T = 1 70
(1) = Y {(I):

INFLIT
FRINT

e \r/II

INFUT
s RF
INFUT
(4)
{4)
TO 4:

48
TIM
(4):; "CLOSE

T(2)
(NF /

481Y(1) =

4479 e X (L) =
NEXT

TO Nx

O THEN Y (1)

INFLUT

_— . .
ERCEWC S P

/ NF:
NrA(LY =
NEXT

"EFS = "IERS

"NUMBER OF ITE

20 Uiz GET
THEN RR = 20

==
x .

'NUMBER 0F ITE
"DATA FILE
"iMF
"OFEN 'ty M
1 "READ "3
ENFUT T(I):

Crl

4 xx

INFUT Y (1)

SE:
/T4
IEHSA4T1)
(Y (1)

#* 100

IF Y<¢I)
= Y{I) +

— NF

[ TR P

NEXT
ALy I

NEXT

I %




L0
DO

—b 2l

BEO

T

AL

E50

HhD
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tninn 1

QUT = ©: GOSUER 1000

HOMES

CIF DUT = 1 THEN  PRINT "RETU
RN ON Z-FLAG NEGATIVE ": PRINT

PR 1 -
FRINT "DATA FILE CALLED "imE

FRINT "Y(I) = Q#EXF(BEX(1)) 40
vy BERINT :

FRINT " & = "3Q8Ar FRINT " H
= U RRy FRINT " 0 = "3CC
FRINT "ES = "iES: FRINT @ PRINT

2k

O = A ¥ NF2C
WNeSDES 8}
FOR T 1 TO N

anGg = 5D +  LOB ( ABS (YY (]

y - Yy - LOG (AY — BE % X
Iy ™~ 2
NEXT

GgDE = BDE /O (NN — E) X = O3 XX

mo ()
FOR I = 1 TO NN

¥ o= X 4+ X{I):XX = XX + X(I}) =
XD
NEXT y

SR o= BAR (NN * SDB / (NN * X

X - X xE X))

FRINT "S3I6GMA R = My Ok

FRINT & PRINT "ERROR RBAR = "
10,6745 % SR

FR# © .

FRINT @ FPRINT YTO CHECE COMP
UTER-FIT FUNCTION. “3: GET Y
F: IF ¥y# = *¥!" THEN GOSUR

GO0

FRINT @ FPRINT "WOULD yOU LIk -
£ TO REFEAT 7 "i: GET Y&: IF
Y < oy e THEN  PORE D, 1@ END

= GO % NF:NN =

ot

R

REM  EXPONENTIAL FIT TO COR
RELATION FUNCT XON

o= 0

FOR OE o= N~ % TO N:C = € +
YLy NEXT :C = C / 10

Z1 = Y({1)y - C: IF Zi < O THEN
UT = 1: RETURN

IE o= Y (Lo)y - C: IF Z2 0 O THEN
OUT = "1: RETURN
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nan e

Bos (O LOG (Z1)Y — LG (Z2Y) 7/
(X(1) — XLy
A = (Y(i1Yy ~ Y({1Dy)y /7 ( EXF |
B % X(1)) — EXF (B % X<{10))
)
ES = 0O FOR I = 1 TO NsgEhH =
ES o+ (Y(I) - £ — A % EXFP (X
(LY % B ™ 2: MNEXT
51 = 0:32 = OulE = 0154 = O
85 = 0186 = 087 = g8 = 0
HOME ¢ FLASH @ FRINT "ITERA
TION NOO"2COUNT 4+ 13" / "3RR
r NORMAL
FOR I = 1 TO N
El = EXP (B % X(I)):EZ 1
wome X1 o= X(I) % El:xXd o= XA(I

i

Yo% ER:XX o= X{I) % XE:GL = B

1o+ E1:82 = 82 + ER:S3 = 53 4+
X1:154 = 54 + X2:85 = 55 + XX
186 = Hb 4+ Y(I):18T7 = §7 + Y (
1) % E1:88 = 88 + Y % X1
NEXT .
Di = 82:D2 84 % A:DE = S1:
D4 = S5 % A ~ 2:Dé& = 83 % Az
DY = NiEl = - 82 # A - S1 %
Co+ S71E2 = -~ S4 % A 2 -
S % O % A 4+ SB * AIEI = -
Bl % A - N % © + H6:01 = D4 %
DY - D& - D20 = DI % D& — D
2 % DY:CT = D? % D& — D3 % D
4104 = D1 % DY — DI ™ Z:06 =
DY % DI —~ DI % D6
Lo = DI % D4 - D2 ~ 2:000 = D
1 % 1 + DT % ©2 + DI % CE:l
= (Bl % C1 + B2 % 02 — B3I %
CZY /7 CoiV = (Bl * CZ + B2 =
C4 + BE % C&) /7 Gl = (B1 *
TE o4+ BR % e + KE % 09) /€O
s o= o 4 Ui o= B Vil = C o+
WeHs = 0

FOR T = 1 TO N:28S = 88 + (VY
(1) — 0 - A % EXP (B % X(I)
)y v oRr NEXT \
IF  ABY (ES ~ S8 < 18 — 12
THEMN  RETURN

85 < ES THEN AA = A:RB =
ErC0 = £:ES = 89S

IF ES < ERS THEN 1200
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1200
1210

HO00
SO0
ZOZ0

RIS

TO40

EOS0

SQ6D
EOTO
2080

2090
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H1 0

A1E0

9

SLEO
E140
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min 9

COUNT = COUNT + 1: IF COUNT <
R THEN 1080

RETURN

REM RETURN WITHVALUE AA,BR
LCE AND ES ,

MAX = B(1)MIN = B{1)

EORT o= 2 TO 48 _

TE E(E) » MAX THEN MAX = E(
I) .
TF B(I) < MINI THEN MIN = B
(1)

MEXT
FOROI = 1 TO 48:B(0) = (BRI
Yy — MINY % 178 / (MAX — MIN)
TROLY = 179 — R(I): NEXT

HER _

EOR T = 1 TO 48
A= T % 279 / 48x FOR 11 = @

- 1 TO A HFLOT II.LR(I) - 1

TO LL.ECI) 4+ 1: NEXT

NE X T

DEF FN &)
Box ) + CC
Boo= (TIM % 1E — &) % 48 / 27
5 .

HOME @ VUTAE (22): INVERSE

FRINT 7 WaIT! vy NORMAL

an ¥ EXF (B

it

FOR I = 1 70 &Z79

Iy = FN G % k) NEXT
FOR I = L TO 279:F (L) = (F(
Yy — MINY *.178 / (MAX -~ MIN
YiF (LY = 175 - FA{I): NEXT
FOR I = 1 TO 279 IF P(1)

0 THEM  NEXT

HFELOT I,FP (1)

NEXT

HOME » VYTAR (22)r PRINT MY
= M AAs " REXF O ("iBEBrY o * X )
+ "y Q0

(BET O TE

TEXT

RETURN
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v qH e e - ‘.
a4 4 i dofenilasannardiarasulay Polynomtal Fie (Il

AUNIT Y = A + BX +cx2 + DX

v

Tama A = 1.3245

B = -0.0212

L

C 1.9034 x 10

7
5

D= ~7.2880 x 10

SDS = 2.9520 x 10

' |
o v fa gl Las X A5 aaunile

A Cpmndln | mowmilneanmsSieras

q?:?) (x 1.0"3 kg m gl ) (x 1072 kg mL 5~
0 1.329 1.324
20 0.969 0.971
30 0.843 : | 0.840
40 0.739  0.735
50 0.651 0.650
60 0.585 0,581
20 0.524 0.524
80 0.468 0.7k
90 0.426 0.428
100 0.384 0.380
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! b > 2 ¥ o ad
Faprmminilaeannar Jiarazull o wwgﬁwmmuﬁﬂﬂu

nrrane i
gy AUl
(°c) (x 1073 kg wts 71y
35,87 |  0.776
38.b2 : 0,750
40.75 0.728
42,96 0.708
45,20 | | 0,688
47,16 | 0.672
hg 49 : 0653
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